The George Washington University Hebrew Program

Self-Placement Hebrew Exam
Please print this exam in order to take it

Name: Contact information:
(email/phone)

This is a self-placement exam for students who have prior knowledge of Hebrew.
Complete beginners should not take this exam.

Based on your score, you will be able to place yourself in a GW Hebrew course that is
best suited for you.

GW offers two intermediate Hebrew courses each fall:

A third semester course, Hebrew 003

A fifth semester course, Hebrew 103

This exam determines which of these courses is best suited to your language level.

In order to be placed in a more advanced Hebrew course you will need to consult with
the coordinator of the Hebrew program in person at the beginning of the semester.

The exam has 2 parts, PART ONE and PART TWO, and an answer sheet.

The exam was designed to take about one hour. We recommend that once you begin
the exam you should continue to work on it without interruption until you finish. If at
any point during the exam you feel you cannot continue any more, please stop and
check your score up to that point. After you finish, check your answers against the
answer sheet in order to determine your level of Hebrew. If your score is inconclusive,
you should register in a class that is closest to your score according to the key provided
in the answer sheet either below or above the level you scored.

Please do not look at the questions or the answer sheet before taking the exam. In order
to be placed accurately, it is important that you work independently without the help of
grammar books or a dictionary.

Students who change their score in order to get into a course that is inappropriate
for their level will not be permitted to remain in that course and may find

themselves closed out of courses that better fit their language level.

You may take this exam at home or wait to take it during your colonial inauguration.



PART ONE:
In each of the following questions, circle the numbered words in bold that best complete

the sentences.
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Circle the correct form of the number according to the information in parenthesis: .2
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Circle the correct form of the possessive according to each sentence: .6
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Circle the correct form of the pronominal possessive that best fits each sentence: .7
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Circle the correct form of the compound preposition: .10
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Circle the correct form of the direct object marker: .11
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Read the following passage and circle the correct answers below: .12
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PART TWO

For each of the following sentences circle the word in bold that best completes the
sentence.
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Read the following passage and circle the correct answers below :
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26. The members of Tamuz only value physical labor. 1. True 2. False
27. The members of Tamuz live in a rural community outside the city. 1. True 2. False

28. The members of Tamuz strongly believe in Jewish values. 1. True 2. False



Answer sheet
PART ONE

Question 1
1-3
2-3
3-2
4-1
5-4
6-3
7-4

Question 2
1-1
2-2
3-3
4-2

Question 3
1-2
2-1
3-3
4-3
5-3

Question 4
1-1
2-2
3-2
4-3

Question 5
1-1
2-2
3-2
3-3

Question 6
1-2
2-4
3-2
4-5
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Question 7
1-2
2-3
34
4-1
5-2

Question 8
1-2
2-3
3-3
4-2
5-4
6-3

Question 9
1-1
2-1
3-4
4-2
5-3
6-4
7-1
8-4
9-2
10-3

Question 10
1-1
2-3
3-2
4-4

Question 11
1-5
2-1
3-1
4-2

Question 12
1-3
2-1
3-2
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PART TWO
Question 1-3
Question 2-1
Question 3-4
Question 4-1
Question 5-1
Question 6-1
Question 7-4
Question 8-3
Question 9-2
Question 10-3
Question 11-3
Question 12-2
Question 13-2
Question 14-4
Question 15-1
Question 16-1
Question 17-4
Question 18-3
Question 19-1
Question 20-1
Question 21-1
Question 22-3
Question 23-2
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Question 24-4
Question 25-2
Question 26-2
Question 27-2

Question 28-1

The score:

If you scored 30 or less, you should enroll in a first year course, Hebrew 001.

If you scored 50 or more, you should enroll in Hebrew 003.

If you scored 80 or more, you should enroll in Hebrew 103.

If you had a perfect score of 88, you should consider taking a higher level Hebrew course,

Hebrew 120. Please consult the coordinator of the GW Hebrew Program about it at the
beginning of the semester.

After you finish tabulating your score, please deliver the answer sheet to the Classical
and Semitics Department in the Academic Center, room 345 or mail it to that
department at Washington DC, 20052.
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